| Efficiency vs Dxy |
>0.05
X

X
M. 045 mrmrrrr
= u
O R I
Q r
@.035:— ''''''''''''''''''''''''''''''''''''''''''''''''
© C

L
0.025 SRR

O - 1 ........ TP O B
ootsf b
S e s et e
0.0052— ------ SO SOUOU SOUO SO SOV SO S
.9 J-.QfllllIIII:IIIIIIIIIIII:IIII:IIII:IIII
T C
m -

1.1

..................................

...................................

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

| Efficiency vs Dz |

0.2 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
N . T T T
> : :

€0.18
>\ -

g 0.16

o
£0.14
o

0.12 .
V5 S S .
0.08 :

0.06

0.04}

0.02F

10
1.2
1.1
1
0.9

Ratio

2030
TP dz (cm)

10



	Contents
	Page 1


